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I am Joe Nahhas, founder of real time physics July 4th, 1973.

This is the story how western physicists made up dark energy or the 8/9 of all energy in 
the Universe is missing when 8/9 of energy of the universe is all made up scam and made 
others go on a frenzy looting gigantic funds and promising energy and giving nothing 
with the fraud knowledge of western politicians. This example is how to make up nuclear 
particles using visual effects and math and loot trucks loads caravans of $ 100 bills in 
front of as wrong politicians. To make up an Imaginary nuclear particle three steps are 
necessary and one is proving that it exist and two finding its life time and three is to find 
its mass and all of that can be done like Nobel prize winner did it with a bucket, a particle 
counter, and Billy bob physics and mathematics and dumb USA.Congress.Gov. I am 
going to show you how an electron or a proton that has real existence with indefinite life 
time became dozens of imaginary nuclear particles made up by western scientists with 
life time average of a visual trick or an average of 1 part of a billion trillion of 1 second. 
      
Introduction: The elimination of relativity theory and quantum description of matter 
from classrooms and scientific calculation is a matter of time and not a matter of science. 
It is not only Einstein is wrong but all physicists are wrong for past 400 years the age of 
the western Modern Era in Physics. It is time for change; a regime change. This regime 
change must include the scientifically ignorant USA Congress funding of science. For 
Western Physicists Looting is Job # 1. I am not saying that the 100,000 living physicists 
are wrong and crooks but this is the proof that they are wrong and crooks. And what is 
funny they got Nobel prizes for it as if Alfred Nobel did not commit enough crimes 
against humanity in his life to add to his crimes in after life giving politically motivated 
prizes to unworthy corrupt royal imperial corporate shallow educated "physicists". What 
is wrong in all of physics is measurements; I accuse western scientists of incompetence 
and fraud taking measurements and making up evidence for wrong ideas and dumb 
physics and this is the proof and I dare all to prove me wrong. Western scientists are 
publicly funded and it is my duty and right to show the wrong doing they committed in 



past 400 years and correct it. Human rights for new sources of energy supersede western 
scientists need for funding when western scientists products is not necessarily science or 
scientific and mostly junk experimentation and published papers and no science. Dark 
energy is a make-up scam and the physics that came up with is wrong or quantum 
relativistic mechanics is wrong math and wrong math use used for wrong physics that 
need to be taken out from classrooms and scientific calculations. Here is the proof     
Real time Physics: We can only measure past events. We can not 
measure something that did not happen. We can only measure things 
that had happened. What we measure is not what happened. We 
measure in present time an event that happened in past time.      
Present time = present time
Present time = past time + [present time - past time]
Present time = past time + real time delays
Real time physics = event time physics + real time relativistic delays 
What one sees is relativistic = what happened in an absolute event + relativistic effects
What happened in an event is absolute = real time physics - real time relativistic effects.
Observer time = observed traveller time + time delays 
Real time = absolute time + time delays 
Real time = Event time + time delays 
Real time Physics = event time Physics + time delays Physics
Measurement = theory + corrections
Correction = [Measurements - Theory] is visual Illusions taken as real stuff by western 
Physicists and called Quantum-Relativistic-Strings 110 Years Nobel Prize winner 
Mechanics or the Crown Jewel of physics when this apparent Crown Jewel can be taken 
as the proof that Western Physicists are not dumb asses but dumb asses and a 1/2. 
Western Physicists claim this visual Illusion as real when it is a apparent making 350 
years of western physics a Billy bob Taliban know how production. 

For example: This is the visual effects
Newton's equations for planetary motion around the sun:
We go to the Lab and do an experiment to measure the gravitational force: F = -GmM/r²
Solving this equation give the distance between two objects r = a (1 - ε²)/ (1 + ε cosine θ)
We direct our telescopes to the stars and planets and 

We see: r = [a (1 - ε²)/ (1 + ε cosine θ)] e (λ + ỉ ω) t

What we see is real time solution of F = -GmM/r²
When time delay t = 0 then r = a (1 - ε²)/ (1 + ε cosine θ)
It would give an angular velocity time delay of 
 In arc second per century

W" (Cal-arc sec) = (-720x36526x3600/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x [(v° + v*)/c] ² 

In Time seconds
W" (Cal- sec) = (-720x36526x3600/15Tdays) {[√ (1-ε²)]/ (1-ε) ²} x [(v° + v*)/c] ²



When applied to the first experimental proof of 20th century silly ideas of space-time 
relativity it gave:
 1- Planet Mercury 43" seconds of arc per century elliptical orbit axial rotation rate
[No spin factor]; data supplied does not include spin factor

W (obo) = (-720x36526x3600/T) {[√ (1-ε²]/ (1-ε) ²} (v/c) ² seconds of arc per century

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) ≈ 2πa (1-ε²/4); R =a (1-ε²/4)
 v=√ [G m M / (m + M) a (1-ε²/4)] ≈ √ [GM/a (1-ε²/4)]; m<<M; Solar system    

G =6.673x10^-11; M=2x10^30kg; m=.32x10^24kg
ε = 0.206; T=88days; c = 299792.458 km/sec; a = 58.2km/sec

Calculations yields:
v =48.14km/sec; [√ (1- ε²)] (1-ε) ² = 1.552 

W (ob) = (-720x36526x3600/88) x (1.552) (48.14/299792)²=43.0”/century
This is the solution to Mercury's 43" seconds of arc per century without space-time 
fictional forces or space-time fiction 
2- Venus Advance of perihelion solution:

W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²} [(v°+ v*)/c] ² seconds/100 years  

Data:  T=244.7days   v°= v° (p)] = 6.52km/sec; ε = 0.0.0068; v*(p) = 35.12
Calculations

1-ε = 0.0068; (1-ε²/4) = 0.99993; [√ (1-ε²)] / (1-ε) ² = 1.00761
G=6.673x10^-11; M (0) = 1.98892x19^30kg; R = 108.2x10^9m

V* (p) = √ [GM²/ (m + M) a (1-ε²/4)] = 41.64 km/sec  
Advance of perihelion of Venus motion is given by this formula: 

W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² seconds/100 years
 
W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²} sine² [Inverse tan 41.64/300,000]
                        = (-720x36526x3600/224.7) (1.00762) (41.64/300,000)²

W" (observed) = 8.2"/100 years; observed 8.4"/100years

This is an excellent result that said that not only relativity theory is wrong but silly 
to say the least.      

Abstract:  Looting  DOE and  other  USA government  institutions  is  a  common  place 
because corporate academia of western nations will say anything publish anything based 
on nothing for jobs money prestige Nobel Prizes and no physics and because western 
politician are corporate corrupt and shallow science educated politicians and will give a 



bucket of money for a bucket full of nothing because money is not coming out from their 
pockets and they have no clue what they are paying except they are told it is good! It is 
stinking well  and they are paying nothing and nothing is dark energy. To prove dark 
energy exists  for a scientifically  ignorant government  and looting scientists,  scientists 
took a bucket with a phototube registering flashes between two elevations. The difference 
in  count  is  taken  as  proof  of  the  existence  of  elementary  nuclear  particles  and  dark 
energy. I Joe Nahhas have had accused western scientists of fraud since July 4th, 1973 
and this article is part of the proof that at least 88.88 % of western physicists published 
work is fraud and fraud is dark energy.
 
Introduction:  The elimination of relativity theory is a matter of time and not a matter of 
science.  The death of  E = mc²  in inevitable  because it  was based on visual  illusion. 
Visual  Illusions  is  a  characteristic  of  the nuclear  world and they are  a  result  of  bad 
measurements. Measurements are done wrong for past 350 years starting with Newton.   
Want to see how E = mc² trick? It is shown below but for now read this

Time dilations tricks are scatter experiments. I taught in colleges for few years and I can 
explain it and it is called Scatter and not time dilations. 

In an MIT 1962 video that is sold and distributed around the world two gentlemen had a 
bucket with a photo sensor inside it registering flashes between two elevations at a 
mountain top and at sea level   

The vertical showers of μ - Meson were counted through a horizontal counter:
On a mountain top of 1.943 km height ....... 564 flashes caught on screen and counted in one 

hour   
At sea Level.......................................... 412 flashes caught on screen and counted in one hour
This count is given as experimental proof of the existence of μ - Mesons and time dilations.

Is this time dilation?
Absolutely not!

  1943 meters height   * * * * * * * * * * * * * * * * * * * * * * * * * *   
 1500 meters height    * *** * * ** * ** * * * ** * ** * * * ** * ** * *                        * * * * 
 1500 meters height    * *** ** * *** * *** * ** * *** * ** * ** * ***                      * ** * *
1000 meters height     *** ** ** * ** **** *** * *** * **** * ** ***                      ** * ***
0500 meters height     *** ** ** * ** **** *** * *** * **** * ** ***

I say this is not time dilations but diffraction due to an increase of air density between the 
two different locations and here is the proof 

 The diffraction intensity N = N (0) e- ỉ ω t   ------------------------------- Nahhas' density E q. 

N = N (0) e - ỉ ω t; ω t = arc tan (1/ n); n v = c; n = index of refraction; v = velocity of 
light in medium; c = light speed in vacuum
N = N (0) [cosine ω t + ỉ sine ω t] = T (0) [1 - 2sine² (ω t/2) + ỉ sine ω t] = T (x) + ỉ T (y)
N (x) = N (0) [1 - 2sine² (ω t/2)] = T (0) {1 - 2sine² {[(arc tan (1/n)]/2}}



Δ N = N (x) - N (0) = - 2 N (0) sine² {[arc tan (1 /n)]/2}
Δ N = - 2 N (0) sine² {[arc tan (1 /n)]/2}
N (x) = N (0) cosine arc tan [1 /n)]  
N (x) = 564 cosine arc tan [1/ 1.07] = 412

 Average air density at 1 km altitude is about d = 1.07kg/ m³ estimated from engineering 
charts. Diffraction count is N = N (0) cosine arc tan (1/d)      

The μ - Meson count
On a mountain top of 1.943 km........... 564 flashes caught on screen and counted in one hour 
At sea Level.......................................... 412 flashes caught on screen and counted in one hour
Average distance is about 1 km and average density is 1.07kg/ m³ from engineering tables  

N (x) = 564 cosine arc tan [1/ 1.07] 
               = 564 cosine arc tan (1/1.07)

         = 412 --------------------------------------------------------------------- One

This fictitious method of proving the μ - Mesons was continued to give the μ - Meson a 
life time. To give this science fiction elementary particles 

A - Mathematical tricks that created dark energy
Making a square operation a double is simple
In algebra one there is real numbers and there is imaginary numbers like 1 and ỉ where 
the √ ỉ² = -1 (look at the imaginary number or complex number ỉ in you algebra one) the 
trick is using the absolute value of │ (1 + ỉ) (1 + ỉ) │= 2 
The difference between 1 and ỉ is a 90 degrees twist of 1 on the x-axis to become ỉ on the 
y-axis.  The  justification  to  making  1  as  (1  +  ỉ)  came  from  Michelson  and  Morley 
experiment that said if you rotate 90 degrees then there is no difference if you were at rest 
This trick is found in all experimental proofs of dark energy research when it is not only 
wrong but an organized wrong.
For example let us make and E = mc² out of E = mc²/2
By writing instead of 1c we write (1 + ỉ) c 
If we start with E = mc²/2 same as E = (m/2) [(1c) (1c)]; now change 1c to │ (1 + ỉ) │
You get in absolute value E = (m/2) │(1 + ỉ) c ││ (1 + ỉ) c │= (m/2) (2c²) = mc²
This trick is actually changing a multiplication operation into a doubling operation. In 
actual practice it is like this. 
 The Visual effects of 19th century experiments and the maze of light that lightened the 
20 century world that was in the dark at night since eternity and made fools out of some 
are not good enough to make a fool of me believing in the dead minds of E = mc².  
Why you want to bring back E = mc²/2 because E = mc² made fools out of the 100,000 
physicists and it is wrong and for the most important reason it reversed Darwin theory. 
From Darwin:
Ape --> humans ---> intelligent humans --> Nobel Prize winners humans ---> dumb Ape 
In experiments we can only find 1/9 of the energy that the formulas say there is energy. 
Scientists are wasting their efforts for all of past century on trying to find the other 8/9 
energy the formulas says they exist but we can not find.
How did that happen?



We have E = [mc²/2] and in nuclear reaction they say when mass is changed to energy 
then change in energy Δ E = mc² and total energy is = E + Δ E = mc²/2 + mc² = 3mc²/2 
and in experiment we can only find E = mc²/2 and the other 2 [mc²/2] = 2E are missing. 
With E (total) = 3 (mc²/2) = 3 E = E (total)/3 can be found and 2E =2 E (total)/3      
Or E (total)/3 found 
And 2 E (total)/ 3 missing
Then scientists added that also (1/3) of energy that we found might have 2/3 missing too.
Then 2/3 (1/3) = 2/9 missing of energy that we found
And 2/3 = 6/9 already missing and the total missing is 6/9 + 2/9 = 8/9 missing wow! 
Wow! Let us find 8/9 missing energy and get rich and for a century western scientists are 
day dreaming of 8/9 dark energy missing and the rest of the world have to put up with 
this crap for 150 years of silly relativity! All of it was based on silly ideas of two 
handymen on a garage work in 1887 in Cleveland Ohio and their names are Michelson 
and Morley.                                                                   

B - Real time location tricks 

An object at of absolute location r when measured in real time a decay factor of ℮ [λ (r)] t 

and a motion factor of ℮ [ỉ ω (r)] t is introduced to a total factor of ℮ [λ (r) + ỉ ω (r)] t and the 

location of an object measured in real time is r = r (0) ℮ [λ (r) + ỉ ω (r)] t

With m = constant

C - The trick of 20th century E = mc²/2

E = mc²/2 and 
E = mc² is the visual illusion of E =mc²/2
Visual E = mc ²

Proof: E (total) = T (kinetic) + U (potential) = T + [U = 0] = [T = 0] + U 

With E = T = mv²/2 = mc²/2; v = c

With r = r (0) ℮ [λ (r) + ỉ ω (r)] t

P = {[v (0) + r (0) [λ (r) + ỉ ω (r)]} ℮ [λ (r) + ỉ ω (r)] t 

With λ (r) = 0, P = [v (0) + ỉ ω (r) r (0)] ℮ ỉ ω (r) t

(P. P) = [v² (0) - ω² r² (0) + 2 ỉ ω r (0) v (0)] ℮ 2 ỉ ω (r) t

Energy by definition:

E = m (P. P)/2 = (m/2) [v² (0) - ω² r² (0) + 2 ỉ ω r (0) v (0)] ℮ 2 ỉ ω (r) t

E = (m/2) [c² - c² + 2 ỉ c²] ℮ 2 ỉ ω (r) t

With ω r (0) = c  

E = (m/2) [2 ỉ c² ℮ 2 ỉ ω (r) t]

│E│ = (m/2) │2 ỉ c² ││℮ 2 ỉ ω (r) t│



E = (m/2) (2 c²) = mc²
E = mc²

What we have now is a particle sample that deflected or scattered and what is left is the 

Quantity N = N (0) e- ỉ ω t        
Dumb Ass western Physicists say it jumped into time travel! And came out as different 

particle from π - Meson particle to μ - Muon with life time of τ = 2.176 x 10 - 6 second.  

Or τ = 2.2 x 10 - 6 second

With N = N (0) e- ỉ ω t 

And N (x) = N (0) cosine arc tan (1 /n) 
And L n [N/ N (0)] = L n [cosine arc tan (1 /n)]  

Physicists made m = m (0) e- τ/T 

Or, N = N (0) e- τ/T 
And L n [N/ N (0)] = - τ/T

Or - τ/T = L n [cosine arc tan (1 /n)]  
And τ = - T L n [cosine arc tan (1 /n)]; the equivalence of n and d = density
And T = n y/c = 1.07 x 1.943/300,000 

Then τ = - T L n [cosine arc tan (1 /n)]

And τ = [- 1.07 x 1.943/300,000] L n [cosine arc tan (1 /1.07)]  

Or, τ = 2.176 x 10 - 6 second   ------------------------------------------------------ Two

With a made up imaginary particle proof of existence and a made - up measured life time 
now mass become an easier made -up. When the mass of μ - Muon were to be measured 
cloud chambers were used using Aerosols and Aerosols have a refractive index of 1.393, 
from published data and if we take n as 1.393,

With N = N (0) e - ỉ ω t

Δ N = - 2 N (0) sine² {[arc tan (1 /n)]/2} = - 0.187647931 N (0)
And Δ N/N = - 0.187647931 = - τ/T
What physicists did was they did not make a decay but or sink but they made a spring of 

a new particle with m = m (0) e Τ/τ

With m (0) = 1 as mass of an electron 

And m = m (0) e Τ/τ = m (e) e 1/0.187647931 
And m = 206.79 m (e)                        (1979) data --------------------------- Three
What happened is the amount of diffracted electrons was considered as the mass of a new 
particle when it is an average of 206.79 electrons. What I am saying is that the "Atom" is 
white man trash and thanks to: or (564 - 412) x l2 = 206.79  
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